
REBOUNDER MOUNTING INSTRUCTIONSREBOUNDER MOUNTING INSTRUCTIONS
Esch Drills

page 1 —71495 rd. 397 ∙ indianola, ne 69034 ∙ 308-364-2607 or 800-382-2607 ∙ fax: 308-364-2410 ∙ sales@schaffert.com ∙ www.schaffert.com— 31 aug 2023

SCHAFFERT MFG. CO., INC.   308-364-2607 OR 800-382-2607

DOEDOE
Package ContentsPackage Contents

Rebounder for Esch DrillsRebounder for Esch Drills
QtyQty ItemItem

1 5-hole Rebounder
2 1/4″ x 1″ Bolt
2 1/4″ Whiz Nut

DEMBDEMB
Package ContentsPackage Contents

Rebounder Mounting Bracket for Esch DrillsRebounder Mounting Bracket for Esch Drills
QtyQty ItemItem

1 Mounting Bracket
1 3/8" x 1-1/4″ Carriage Bolt
1 3/8″ Nylon Lock Nut

STEP #1:

STEP #2:

STEP #3:

Remove one disc.

The Rebounder attaches 
to the under side of the 
mounting bracket.

From the top side of the 
bracket, push the 1/4" x 1" 
carriage bolts in through 
the 2nd and 4th (bottom) 
holes from the top of the 
mounting bracket.

If using the Straight Shot 
kit, the L-bracket can be 
installed under the top bolt.

The bolts should go 
through the two bottom 
holes (4th and 5th holes 
from the top) of the 
Rebounder.

Secure in place with the 
two 1/4" whiz nuts.

Hold the scraper in place as you install the mounting 
bracket under it with the 3/8” x 1-1/4” carriage bolt.

Secure with 3/8” Nylon lock nut. 

• danger:  When storing or working on the drill always install cylinder stops or place the planter on stands  
       to prevent personal injury or damage to the attachments.
• warning:  Do not roll back or back up the drill in or on the ground as this can result in damage to the Rebounder.

Before you begin, verify all “package contents” items. Qty is per single row.Qty is per single row.

NOTE: If applying liquids in furrow with the Rebounder, attach either Y-Not Split It, 
Hose Holder, or Straight Shot kit by following kit directions. 

 INSTALL KIT BEFORE INSTALLING REBOUNDER TO PLANTER UNIT.  
See kit instructions.  

‼ ‼

use  
2nd  
& 4th  
holes on 
bracket

re-install 
original 
scraper 
here

use  
4th  

& 5th  
holes on 

Rebounder

install 
optional 
fitting kit’s 
L-bracket 
under top 
bolt



REBOUNDER MOUNTING INSTRUCTIONSREBOUNDER MOUNTING INSTRUCTIONS

page 2 —71495 rd. 397 ∙ indianola, ne 69034 ∙ 308-364-2607 or 800-382-2607 ∙ fax: 308-364-2410 ∙ sales@schaffert.com ∙ www.schaffert.com— 31 aug 2023

SCHAFFERT MFG. CO., INC.   308-364-2607 OR 800-382-2607

sales 23 aug 2022


